L A 2 3 4 5 ¢ F % 3
P ¢ o bdabadab

L(:\QQQCGQGGQ
L‘(‘JCCCCGCOZSC
/1

P(2)= o.=P(S)

| |
Plu)=d =P(3)

PWY-c $3=P(F)

P ¢ o b d ae & ab
o % o d.b a0 d b ac
L A 2 3 4 5 ¢ % %89
2.6y - ¢ 0 5 00 20C
| Q S 0,0~

N{(’P) C O ZQ\%/
Q-244:=%

A-S+4=5



Es = Né( (®):= %‘W\“‘z«w\ (o)

For <o TOm ™o L)< O

For ge—/\'r@ wm-A Do
L &« \m-f\‘l'b((P)—M
()< Y

END FOK

‘560

Fer L<A TO M DO
T N (P) = LTHEN j &t
Qf(m-;.-\-'\jé—'qb

END FOR

R orotnen der L, Q' o Witke
A2C Tourdamevtalen \lor \)ero&‘\cz\.\‘\\wg



(L))o\/e( - Moaore

EQV\Q\Q\ﬂe: Pottern P der La“c:)e, |®P)=m
Text T der Lavnge | Tl=w

Perecne LK), 20 ,’Q(ﬂ £3e Pattecn P

Kk & vn
WHILE kewn DO

Lewm ek /7 Hilfsimdex

WHILE 120 AnD PL) =T (W) Do
L& ;,—A)\nc—‘l\-/\

END LWILE

T (=0 THEN

Gib Posibion k-m+4 avs
be e+ wm-0'(2)

ELSE
dnftac
Qnift e & Vo L (44)

E L Gi=0 THEN SWithes
K e b+ wmox sv\‘\’r*'gc_,s‘“\*"esg
E—

ExD (¥
caD WRILE

« vnox 34, L-R (‘v(vﬂ\}

e - 0 ()



ErueTee Brp ChaR -Recer

1 o bacdAabeccbcecalb
Y ab c abachbc
» +4 L
- 1 . ‘OCa‘ﬁ L@OAC\/N.-\?z@\:
()l € * 20 sl alos e
¢ -Rc) =-% .
Nla 2 2u85¢ 3 8 Q
I A T L B
Lw |6 6 2 2 2% 5 S ¢
c o o &6 2233 3 3 F
A lo o o o ©66 ©0 OO
Y a b acdabccbeab
P oo b ¢c avbachbce
% & 4 4+

Ecuettecte Bod Chos .-\Zeae\: I
Nerecieoewn b € - ‘R(CJC\ = (-2 =5 Vos,



